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1 #f

-V Fun— B F 4 i R g2 & JE fx
1 95 - BRI HIFTFC A 16.9 4
2 295 IR = 22 FrE2 77 B 15.1 2
3 117 ZNENEYN HIFTFC B 17.2 5
4 19 e =1 W =T 0T 14.5 1
5 263 A7) 157 T A)—~F7 B - -
6 140 7R A FRIFTFC A - -
7 56 dles=y HEEHET A —~T 57 - -
8 128 LD HARJR A 15.3 3

2 #A

L= Fun— 8B F 4 i - fiB & JE 4L
1 42 AL EE 15.7 2
2 47 W BOK F—LEEY D 17.6 4
3 232 PR ARIE A LT A)—R7F7 A 19.2 8
4 72 FREIE A BERE[E 5 17.0 3
5 283 AT AT IR 777 A 18.9 7
6 197 bb R ST ST AU —h 18.0 6
7 23 FESERG L W 2 =T T 17.6 5
8 159 UNISEpN 7 T T 15.2 1

3 #i

L= Fun— 88 F 4 i = BB & JE £
1
2 233 K LT AV—RIF7 A 18.2 6
3 10 E NN RACNTTT 17.2 4
4 296 e HrE7 77 B 16.3 3
5 96 RN — HIFTFC A 15.4 1
6 262 V= 9N L ETA)—KrF7B - -
7 127 A SERT— IR RA 16.0 2
8 198 =R HIRJE 7 A —h 17.6 5

4 #

L—> Fun— B F 4 i B fi2 & JE fI
1
2 129 & JOGEE AR AA 16.5 4
3 231 =4 LT AV—RIFT A 17.0 6
4 57 FEAE = HEBHT A —~7 57 16.1 2
5 98 IRBE AT A HIFTFC A 15.4 1
6 298 e 77 B 16.5 5
7 282 RIR At FArE2 77 A 17.4 7
8 20 PR TR W/ 2 =T 75T 16.2 3




o
]

L—> Fun— B F 4 i R g2 & JE fx
1
2 139 Lhag B FFERIFTFC A 14.4 1
3 22 Ty f— St W a=T VT 17.0 4
4 297 ERAIZIN 727 B 15.9 3
5 71 FrosaE A HREE 5T 15.6 2
6 234 FEANE T AV —RITT A 17.7 7
7 118 AR B R HIFTFC B 17.0 5
8 264 SHTEE AT L7 A)—R~7F 7B 17.2 6

6 #i

L—>r Fun— E F 4 Fir R £ # IE
1
2 97 LR 55 8 2 HIGTFC A 15.4 1
3 274 FRE 5| LT A)—~757C 19.0 7
4 21 i B} e/ =T 75T 15.8 2
5 199 AT Y, AT A — 16.2 4
6 58 YRV Ay BSBHT AY—R~r T 7 16.4 5
7 261 LN L ETA)—K7FT7B 17.3 6
8 126 (L & A= G AR A 16.0 3




